Multiplication of Radicals
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V23=46 2.5 47=435
NTANT=VT77 4.35-5=5>=5
T AT =T =7 6. V86 =2 V2 3=:2"3=223

V10430 =425 42-3-5=4/27.3.52=2.53
A5 V15=453-5=43.52 =53
A435=27J5-7=+2-5-77 =725

32440 =27 2P 5 =205 =245

35246 =345 -242-3=642-3-5 = 64/30

547 2421 =547 - 2437 =1043-72 = 10-74/3 = 7043
2V3-42=-8V3-2=-86

66 - 412 =682 3-442 3=4.6327 -3 = 4.6.2.3J2 = 1442
Jidx=vx =x

\/X2y3 ‘\/X5y2 :\/.X7y5 :x3y2\/5

\/6xy3 -\/4)c7y4 =\/2-3xy3 -\/22)c7y4 =\/23 3-xby" =2x"y 23y
V52 - 310x° 2420 =+/5x% - 32 5x7 - 242x° =3-2427 - 52x* =3.2.2-5x* = 60x*

(V3 +1)=V6+43

V3(V6-2)=v3(v23-2)=+2-3 -2/3=3V2-243
25 (V5 +3) =25 +6v5 =25+ 645 =10+ 65
4T (27 - 32) =87 +12427 =87 +1242°7 =56+ 12414



23 3(v27 =3)=3(V3 V3 =3 -3 =3 -3=9-3=6

24, (5~ 3) = B =33

25. (V2+3)(V3+4)=v2(V3+4)+3(V3+4) =6+ 442+ 3/3+12

26. (V5 -3)(vV2 +3)=5(V2 +3)-33(v2 +3) =10 + 3J5 - 3J6 - 93

27, (2+4x)(2- V) =2(2 Vx| +Vx (2 Vi) =4 -2V + 2dx —a? =4 - x

28.(24/x = 3)(3Vx +5) = 24 (3V +5) = 3(3Vx +5) = 6427 +10vx ~9Vx ~15 = 6x +x - 15

(2x/€+3)(2«/§—1):2\/ﬂ(2\/§—1)+3(2J§—1)=4 27.3-242-3+642-3=
4273 -2J6 +62 -3=8/3-26 +642 -3

0 (445 +33) (45 = 3V3) = 445 (445 - 33 )+ 33 (445 - 33 =
| 15\/5_2_12\/ﬁ+12\/ﬁ—9\/3—2=15-5—9.3:75_27:48

4 (V2-1) =(V2-1)(V2-1)=V2(V2-1)-1(V2-1)=V2? -2 V2 +1=
2-2V2+1=3-22

29.

“ (5+3) =(5+3)(5+3)=5(5+3)+V3(5+13) =25+ 5V3+ 53 +43°
25+1043 +3=28+10/3

(V3 =)} =(-7)(N3=T)=3(3 ~T) T (G -7) =
3 =21 =21 =77 =3-221 - T=—4 2421

(2v3+4) =(2V3+4)(23+4)=23(23 +4)+4(23+4)=

A3 +8V3+8V3+16=4-3+1683+16=12+16v3 +16=28+16+3

33.

34.




